Starting Six

WorkouHE 2
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/ Find the nth term of the sequence: \

3,7,1,15

ls 71 a term in this sequence? Explain.
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Expand and simplify

(2x + 3)(x - 1)

N ACCESS MATHS
/Work out the size of each interior angle iﬁ

this regular polygon

/ Solve: % =3x+3 \

\_

Score /6
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Factorise: 8a — 6a*

Factorise: x* + 11x + 28
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Starting Six

WorkouHE 2
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/ Find the nth term of the sequence: \

3,7, 1,105

ls 71 a term in this sequence? Explain.
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Expand and simplify

(2x + 3)(x - 1)

N ACCESS MATHS
/work out the size of each interior angle iﬁ

this regular polygon

/ Solve: % =3x+3 \
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Factorise: 8a — 6a*

Factorise: x* + 11x + 28
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